


[1] 2- 0/18 nd 58 ng/mé
[2] |1- 3/16 | nd 14 | 8.6 ng/m?
-23- ng/m?
N- 15 n 13 ng/L
3 0/ d 3 ng/ 30
4 3- 1 n 1,
[4] |23 0/16 d 000
-1- ng/m?
[5] 19/21 |nd 120| 0.6 ng/L
ng/L
16
[6] |2,4- 0/16 nd 160 ng/L 30

20




[7]1 |2,4- 2/21 |nd 83| 19ng/L 30
ng/L
[8] | N,N- 11/20 | nd 14 ng/L
73,000
ng/L 15
[9] |2,3- 0/15 nd 12 ng/L 30
[10]|2,3,56- 0/14 nd 180 ng/L 30
-p- 20
[11]1.23- 2/16 | nd 11| 4.8ng/L
ng/L
15
[12]] N- 12/12] 0.17 0.017
380 ng/m?
ng/m?
[13] (4- 0/16 nd 14 ng/L
) 15
[14]]1,3- [(23- 0/19 nd 9.7 ng/L 30
20
) 1




[15]

[15-1]

7/23

nd 220
ng/L

4.4 ng/L

5/14

nd 16
ng/m?

4.7 ng/m?

[15-2]

7/22

nd 160
ng/L

1.7 ng/L

16

0/14

nd

4.9 ng/m?

[15-3]

6/23

nd 110
ng/L

7.0 ng/L

16

1/14

nd 18
ng/m?

3.7 ng/m?

16




[1] 0/19 nd 2,200
ng/m?
[2] |2-(2- 20/20 | 110 54 ng/L
480 ng/L|
30
[3] 9/20 | nd 19| 1.7 ng/L 30
ng/L
[4] | 3- 0/23 nd 1.1 ng/L




(5]

11712 |{nd 720| 14 ng/L
ng/L
6/11 | nd 220 ng/L
1,100
ng/L
[6] |26- -tert- 18/21 | nd 43| 6.2ng/L
-4- ng/L
26- 20/21 | nd 32 0.37
—tert- ng/g-dry| ng/g-dry
~4- 11/12 [nd 120] 029
ng/g-wet ng/g-wet
[7] | N.N- 20/23 | nd 25| 0.5ng/L
ng/L
=N-
24/24 | nd 35| 0.014
ng/g-dry| ng/g-dry
[8] |155- 10/21 | nd 53| 7.8ng/L 30
-1- ng/L
-3-
[9] 20/21 | nd 14| 0.41 ng/L
ng/L
[10]|1- 0/19 nd 160 ng/L 30
[11] 20/20 | 50 8.1 ng/L 30
1,300
ng/L




